The ________ rate of interest is the actual rate charged by the supplier and paid by the demander of funds. 

A) 


nominal 

B) 


real 

C) 


risk-free 

D) 


inflationary 

Answer:  


A 

The ________ feature permits the issuer to repurchase bonds at a stated price prior to maturity. 

A) 


call 

B) 


conversion 

C) 


put 

D) 


capitalization 

answer A

On January 1, 2002, Zheng Corporation will issue new bonds to finance its expansion plans. In its efforts to price the issue, Zheng Corporation has identified a company of similar risk with an outstanding bond issue that has an 8 percent coupon rate that is due January 1, 2017. This firm's bonds currently are selling for $1,091.96. If interest is paid semiannually for both bonds, what must the coupon rate of the new bonds be in order for the issue to sell at par? 

A) 


5.75% 

B) 


6.00% 

C) 


6.50% 

D) 


7.00% 

Answer:  


D

Jia Hua Enterprises wants to issue sixty 20-year, $1,000 par value, zero-coupon bonds. If each bond is priced to yield 7 percent, how much will Jia Hua receive (ignoring issuance costs) when the bonds are first sold? 

A) 


$11,212 

B) 


$12,393 

C) 


$15,505 

D) 


$18,880 

E) 


$20,000 

Answer:  


C

Calculate the value of a $1,000 bond which has 10 years until maturity and pays quarterly interest at an annual coupon rate of 12 percent. The required return on similar-risk bonds is 20 percent. 

A) 


$656.77 

B) 


$835.45 

C) 


$845.66 

D) $2,201.

